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1 F50cm
BEINE1AHE R5.12.7 1250 |Hh 0.05
BEE2.HE R5.12.7 1245 |Hh 0.06
RE1S/HE R5.12.7 1057 | FEh 0.06
RG22 R5.12.7 852 | fEh 0.06
RESSAHE R5.12.7 11:20 |H&h 0.05
RE4SAHE R5.12.7 11:00 |HE&h 0.07
BREEERE A R5.12.7 11:15 | Hh 0.07
RENEI2E R5.12.7 10:30 |HEh 0.06
B2 R5.12.7 1240 |FEh 0.06
REHR AR R5.12.7 15:40 |HEh 0.07
tHAZERAE25 | R5.127 1445 |Hh 0.07
LHAZERAEIS | R5.127 1507 |Hh 0.06
LHAZERAESS | R5.127 1505 | &Y 0.06
HAAE R5.12.6 15:30 |H&Eh 0.04
(?’%Zén ) R5.12.6 1500 |Hh 0.07
BN R5.12.6 1520 | 8BY 0.05
K2 R5.12.7 1325 |FEh 0.05
BALAE
R R5.12.6 15:30 |H&Eh 0.05
ERAEEAERARE| R5.127 1500 | &Y 0.06
J:W“%mﬁﬁi&w‘* R5.12.7 1455 |HEh 0.06
EEAEERABE1S | R5.127 1430 |HEh 0.06
tHAZERAE4S | R5.127 1453 |Hh 0.06
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